TIWT IS F—hvT

BBLA—IL: 1 2 456 9 10 11 13 14 16 17

NEAL K4 OUT N 18H HD NET
1 ISR/ 38 38 76 6. 4 69. 6
2 )1 R+ 37 38 75 5.2 69. 8
3 ] 37 44 81 11.2 69. 8
4 R 3R 39 39 78 7.6 70. 4
5 R 2 38 39 77 6. 4 70. 6
6 A 44 41 85 13.6 71. 4
7 £ IERE 41 44 85 13.6 71.4
8 REA 3k 38 41 79 7.6 71.4
9 BT 43 47 90 18. 4 71.6
10 Lo BEiE 46 55 101 29. 2 71.8
11 % Foh 48 46 94 22.0 72.0
12 N — 39 37 76 4.0 72.0
13 E AT 46 41 87 14. 8 72.2
14 A [ 47 46 93 20. 8 72.2
15 0 35 39 74 1.6 72. 4
16 B Ba =] 46 50 96 23.2 72.8
17 REH K 45 43 88 14. 8 73.2
18 NI ) 46 48 94 20. 8 73.2
19 LN F sl 39 36 75 1.6 73.4
20 (L[] e B 37 38 75 1.6 73.4
21 JIAS Brff 37 38 75 1.6 73.4
22 JAUKR HIIZ 45 48 93 19. 6 73.4
23 FAH Fo 38 42 80 6. 4 73.6
24 RE RF 50 41 91 17.2 73.8
25 JiH 1B 42 43 85 11.2 73.8
26 HI =R 49 56 105 30. 4 74. 6
27 BAE #6000 42 38 80 5.2 74. 8
28 T S 51 53 104 29. 2 74. 8
29 N2 49 53 102 26. 8 75. 2
30 = 56 49 105 29. 2 75. 8
31 Rl IR 44 46 90 13. 6 76. 4
32 Ko =5 40 45 85 7.6 77. 4
33 KH $2H 49 46 95 17.2 77.8
34 Al 40 43 83 5.2 77.8
35 N 46 61 107 29. 2 77.8




36 VeBy iz 51 49 100 20. 8 79. 2
37 e L 45 49 94 14. 8 79. 2
38 Ejg N 48 50 98 18. 4 79.6
39 HH R 42 49 91 11.2 79.8




